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Q1) A) Fill in the blanks (Any 5) [5]
i) There are ___________ schedules in IT Act 2000.

(3, 4, 6)
ii) Appeal against the national forum can be done in _________.

(District Court, High Court, Supreme Court)
iii) The maximum ____________ age limit of a person who can be

member in state commission is
(65 years, 70 years, 60 years)

iv) An agreement enforceable by law is a __________
(Enforceable acceptance, accepted offer, approved promise,
contract)

v) _______ Matter cannot be referred to ADR.
(Customer complaints, Civil cases, Criminal cases)

vi) The person writing the cheque is called __________
(Drawer, Drawee, Payee)

B) Match the following. [5]
A - Group B - Group

i) Sale of goods Act a) 1881
ii) Information Technology Act b) 2019
iii) The consumer Protection Act c) 1930
iv) Negotiable Instrument Act d) 2008
v) Limited Liability of e) 2000

partnership Act

P.T.O.
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Q2) Attempt (any 5) [25]

a) What are the advantages of Limited Liability of Partnership (LLP)?

b) Explain powers of Arbitrator.

c) Write the functions of digital signature.

d) What are the characteristics of Copyright?

e) Explain Essential Elements of the valid contract.

f) What are the characteristics of negotiable instruments?

g) What are the types of partners?

Q3) Attempt (any 5) [25]

a) What are the characteristics of trademark?

b) Explain the rights of unpaid seller.

c) Explain the significance of E-commerce.

d) Explain the concept of central consumer protection council.

e) State the nature of the contract.

f) What are the essentials of bill of exchange?

g) Write  the importance of Design.

Q4) Attempt (any 1) [10]

a) Explain the three-tier consumer’s Disputes Redressal Commissions.

b) Write the difference between Limited liability of partnership firm and
Company.


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à.à.à.à.à.1) A) [aH$må¶m OmJr ¶mo½¶ eãX ^am. (H$moUVohr nmM) [5]
i) Am¶. Q>r. H$m¶Xm 2000 ‘Ü¶o ............ n[a{eï>o AmhoV.

(3, 4, 6)
ii) amï´>r¶ ‘§Mm{dê$ÕMr Anrb ............... ¶oWo H$aVm ¶oVo.

({Oëhm Ý¶m¶mb¶, Cƒ Ý¶m¶mb¶, gdm}ƒ Ý¶m¶mb¶)
iii) amÁ¶ Am¶moJmÀ¶m gXñ¶ ì¶{º$Mr H$‘mb d¶mo‘¶m©Xm ................ Amho.

(65, 70, 60 )
iv) H$m¶X¶mZo A‘§b~OmdUr H$aVm ¶oUmam H$ama åhUOo .............

(H$m¶X¶mZo bmJy H$aÊ¶m ¶mo½¶ ñdrH¥$Vr, ñdrH$mabobr àñVmd, ‘§Oya dMZ)
v) ..................... hr ~m~ bdmXmH$S>o gX§{^©V Ho$ë¶m OmD$ eH$V Zmhr.

(J«mhH$mÀ¶m VH«$mar, {XdmUr VH«$mar, ’$moOXmar VH«$mar)
vi) YZmXoe {bhUmè¶m ì¶º$sbm ............... Ago åhUVmV.

(AmXoeH$Vm©, AmXoemWu, àmáH$Vm©)

~) ¶mo½¶ OmoS>çm Owidm. [5]
‘A’ JQ> ‘~’ JQ>

i) ‘mb{dH«$s H$m¶Xm A) 1881
ii) ‘m{hVr V§ÌkmZ H$m¶Xm ~) 2019
iii) J«mhH$ g§ajU H$m¶Xm H$) 1930
iv) MbZj‘ XñVEodO H$m¶Xm S>) 2008
v) ‘¶m©{XV ^mJrXmar H$m¶Xm B) 2000
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à.à.à.à.à.2) H$moUVohr nmM àíZ gmoS>dm. [25]

A) O~m~XmarZo ‘¶m©{XV ^mJrXmarMo ’$m¶Xo H$moUVo?

~) bdmdmMo A{YH$ma ñnï> H$am.

H$) {S>{OQ>b ñdmjarMr H$m¶} {bhm.

S>) H$m°nramB©Q>gMr d¡{eïço H$moUVr?

B) d¡Y H$amamMo Amdí¶H$ KQ>H$ ñnï> H$am.

’$) MbZj‘ XñVEodOmMr d¡{eï>ço H$moUVr?

¶) ^mJrXmam§Mo àH$ma H$moUVo?

à.à.à.à.à.3) H$moUVohr nmM àíZ gmoS>dm. [25]

A) Q´>oS>‘m³©gMr d¡{eï>ço H$moUVr?

~) AXÎm {dHo«$Ë¶mMo A{YH$ma ñnï> H$am.

H$) B©-H$m°‘g©Mo ‘hÎd ñnï> H$am.

S>) H|$Ðr¶ J«mhH$ g§ajU n[afXoMr g§H$ënZm ñnï> H$am.

B) H$amamMo ñdê$n ñnï> H$am.

’$) h§þS>r {d{Z‘¶ nÌmÀ¶m Amdí¶H$ ~m~r H$moUË¶m?

¶) {S>PmBZMo ‘hÎd {bhm.

à.à.à.à.à.4) H$moUVmhr EH$ àíZ gmoS>dm. [10]

A) J«mhH$ {ddmX {ZdmaU Am¶moJmMr {ÌñVar¶ ¶§ÌUm ñnï> H$am.

~) O~m~XmarZo ‘¶m©{XV ^mJrXmar g§ñWm Am{U H§$nZr ¶mVrb ’$aH$ ñnï> H$am.


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Q1) A) Fill in the blanks and rewrite the sentence. (Attempt any FIVE) [5]
a) Ex-interest basis means the purchase price of securities ________

interest.
(Rolls / excludes / takeover / outstanding)

b) Internal Reconstruction means that the scheme will be carried out
by means ________ of capital.
( Issue / rise / increase / reduction)

c) Converting share of smaller denomination into larger denominations
is called ________.
( Surrender / Face value / Consolidation / Market value)

d) Co-operative Societies are not formed for earning ________.
( Loss / profit / income / expense)

e) Forensic Accounting provides an accounting analysis suitable to
be used in _______ proceedings.
( Useful / legal / notes / income)

f) ________ is the indicated quotient of two mathematical
expressions.
( Ratio / Proportion / Derivatives / Futures)

g) Liquidity ratios measures  the ability of a firm to meet its ______
obligations.
( Long term / current term / short term / medium term)

P.T.O.
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B) State True or False. [5]
a) Ideal Liquid Ratio i) Schedule no. 16
b) Branch Petty Cash Account ii) Nil
c) Debtors Method iii) 1 : 1
d) Cost of bonus share iv) To ascertain actual petty

expense
e) Rent paid v) Synthetic Method

Q2) Attempt any FIVE. [25]
a) Write a short note on AS-12 Accounting for Government Grants.
b) Write a format of Income Statement (Profit and Loss Account) of a

Banking Company Final Account.
c) Write a short note on “Cash Flow Statement”.
d) Explain the terms ‘Cum Interest’ and ‘Ex Interest’.
e) What are the four categories in which loan assets are classified?
f) Write accounting entries for Internal Reconstruction.
g) Write a note on Operating Leverage and Financial Leverage.

Q3) Attempt any FIVE.  [25]

a) Calculate the Debtors Turnover Ratio and Debt Collection Period.

Credit Sales for the year Rs. 12,000/-
Bills Receivable Rs. 1,000/-

Debtors Rs. 1,000/-

b) Explain Branch Petty Cash Account.
c) Explain Forensic Accounting.
d) Write a short note on ‘Accounting for Corporate Social Responsibility’.
e) Write a short note on ‘Types of Co-Operative Societies’.
f) Write a short note on ‘Types of Branches’.
g) Explain Branch Stock Account in detail.
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Q4) Attempt any ONE. [10]
a) Write a format of Balance Sheet of a Banking Company with details of

particulars of all Schedules of Assets and Liabilities.
b) From the following Balance Sheet of X ltd calculate the following ratios-

i) Current Ratio
ii) Liquid Ratio
iii) Debt to Equity Ratio
iv) Gross Profit
v) Net Profit

Balance Sheet as on 31st March 2022
Liabilities Amount Assets Amount
Equity Share 1000000 Goodwill 500000
Capital
6% Preference 500000 Plant and Machinery 600000
Share Capital
General Reserve 100000 Land and Building 700000
Profit and Loss 400000 Furniture 100000
Provision for 176000 Inventories 600000
taxation
Bills Payable 124000 Bills Receivable 30000
Bank Over draft 20000 Sundry Debtors 150000
Sundry Creditors 80000 Bank 200000
12% Debentures 500000 Investment (Short Term) 20000

2900000 2900000
Other Information
1) Total Sales - 6000000
2) Gross Profit - 3000000
3) Net Profit - 1500000


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Q1) Attempt any ten out of twelve from the following. [10]
i) ______ manages issues broadly related to recruiting, hiring, training,

evaluating and rewarding employees.
a) Finance b) Sales
c) Marketing d) Human Resource

ii) The full form of HRM is _______.
a) Human Relation Management
b) Humanistic Resource Management
c) Human Resource Management
d) Human Resourceful Management

iii) The functions of HRM are related to _______.
a) Particular Department b) Top Level Management
c) Whole Organization d) Line Managers

iv) Human Resource Management is primarily concerned with ______.
a) Sales b) Dimensions of People
c) External Environment d) Cost discipline

v) Human Resource Planning is a part of ________ function of the
organization.
a) Operational b) Managerial
c) Analytical d) Planning

vi) Advertisement, television, radio ads and newspaper ads are
_______method of recruitment.
a) Internal b) External
c) Third Party d) Direct

vii) ______ plays a positive role in solving marketing problems.
a) Marketing Research b) Customer behaviour
c) Product Concept d) Management

P.T.O.
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viii) _______means bringing more than one product from a company to
market.
a) Product Mix b) Market Segmentation
c) Promotion Mix d) Distribution Mix

ix) _______ is the oldest concept of marketing.
a) Product b) Exchange
c) Production d) Marketing

x) _______ is an element of demographic segmentation.
a) Personality b) Age
c) Attitude d) All of the above

xi) Market segmentation is the _______ Activity of a marketer.
a) Primary b) Secondary
c) Tertiary d) None of the above

xii) ______ is the stage of Product Life Cycle.
a) Introduction b) Growth
c) Maturity d) All of the above

Q2) Attempt any five out of seven from the following. [25]
a) Write a note on Human Resource Development.
b) Explain the internal sources of Recruitment.
c) Explain the objectives of Human Resource Management.
d) Distinguish between Performance Management and Performance

Appraisal.
e) What do you mean by Internal Communication?
f) State the scope of Marketing Mix.
g) What are the objectives of Pricing?

Q3) Attempt any five out of seven from the following. [25]
a) Explain various leadership skills.
b) What are the factors governing recruitment process?
c) Write a short note on assessment centers.
d) Explain the techniques for evaluating effectiveness of training programmes.
e) Differentiate between Selling and Marketing.
f) State the importance of Marketing Mix.
g) Explain the objectives of Promotion Mix.

Q4) Attempt any one out of two from the following. [10]
a) State the meaning of Human Resource and explain its objectives and

scope.
b) Explain the various stages in the Product Life Cycle.

… … …
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(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70
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2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
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à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr 10 gmoS>dm. [10]
i) ................ H$‘©Mmar ^aVr, {Z¶wº$s, à{ejU, ‘yë¶‘mnZ Am{U nwañH¥$V H$aÊ¶mer g§~§{YV

g‘ñ¶m§Mo ì¶dñWmnZ H$aVo.
A) {dÎm ~) {dH«$s
H$) {dnUZ S>) ‘mZdr g§gmYZ

ii) EMAmaE‘ (HRM) Mo nyU© ê$n .................. Amho.
A) h¶w‘Z [aboeZ ‘°ZoO‘|Q>
~) h¶w‘°{ZpñQ>H$ [agmog© ‘°ZoO‘|Q>
H$) h¶w‘Z [agmog© ‘°ZoO‘|Q>
S>) h¶w‘Z [agmog©’w$b ‘°ZoO‘|Q>

iii) ‘mZdr g§gmYZ ì¶dñWmnZmMo H$m¶© ho ............... er g§~§YrV Amho.
A) {d{eï> {d^mJ ~) Cƒ ñV[a¶ ì¶dñWmnZ
H$) nyU© g§ñWm S>) gmIir ì¶dñWmnH$

iv) ‘mZdr g§gmYZ ì¶dñWmnZ ho ‘wiV… ............... er g§~§YrV Amho.
A) {dH«$s ~) ì¶qº$Mo n¡by
H$) ~mh¶ n¶m©daU S>) IM© {eñV

v) ‘mZdr g§gmYZ {Z¶moOZ ho g§ñWoÀ¶m .................. H$m¶m©Mm EH$ ^mJ Amho.
A) H$m¶©H$mar ~) ì¶dñWmn{H$¶
H$) {díbofUmË‘H$ S>) {Z¶moOZ

vi) Om{hamV, Xÿae©Z, ao{S>Amo d dV©‘mZnÌmVrb Om{hamV ¶m H$‘©Mmar ^aVrÀ¶m ............. nÜXVr
AmhoV.
A) A§VJ©V ~) ~mh¶
H$) Ì¶ñV ì¶º$s S>) àË¶j

vii) ............. ho {dnUZmMr g‘ñ¶m gmoS>{dÊ¶mV gH$mamË‘H$ ŷ{‘H$m ~OmdVo.
A) {dnUZ g§emoYZ ~) J«mhH$ dV©Z
H$) CËnmXZ  g§H$ënZm S>) ì¶dñWmnZ
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viii) ................ åhUOo EH$m H§$nZrH$Sy>Z EH$mnojm OmñV CËnmXZo ~mOmamV AmUUo.
A) CËnmXZ {‘l ~) ~mOma {d^mOZ
H$) àMma {‘l S>) {dVaU {‘l

ix) ................. hr {dnUZmMr gdm©V OwZr g§H$ënZm Amho.
A) dñVy ~) {d{Z¶‘
H$) CËnmXZ S>) {dnUZ

x) ............... bmoH$g§»¶memór¶ {d^mOZmMm KQ>H$ Amho.
A) ì¶{º$‘Ëd ~) d¶
H$) d¥Îmr S>) darbn¡H$s gd©

xi) ~mOmamMo {d^mOZ ho ‘mH}$Q>aMr ...................... H¥$Vr Amho.
A) àmW{‘H$ ~) Xþæ¶‘
H$) V¥Vr¶ S>) darbn¡H$s Zmhr

xii) ................. hm dñVy OrdMH«$mMm Q>ßnm Amho.
A) n[aM¶ ~) dmT>
H$) n[an¹$Vm S>) darbn¡H$s gd©

à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm. [25]
A) ‘‘mZdr g§gmYZ’ {dH$mg ¶mda {Q>n {bhm.
~) ^aVrMo A§VJ©V ómoV ñnï> H$am.
H$) ‘mZdr g§gmYZ ì¶dñWmZmMr CÔrï>o ñnï> H$am.
S>) H$m‘{Jar ì¶dñWmnZ d H$m‘{Jar ‘yë¶m§H$Z ¶mVrb ’$aH$ ñnï> H$am.
B) A§VJ©V g§kmnZmMm AmnUmg H$m¶ AW©~moY hmoVmo?
’$>) {dnUZ {‘lMr ì¶már gm§Jm.
¶) qH$‘VrMr CÕrîQ>ço H$moUVr AmhoV?

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm. [25]
A) {d{dY ZoV¥Ëd H$m¡eë¶o ñnï> H$am.
~) ^aVr à{H«$¶m {Z¶§{ÌV H$aUmao KQ>H$ H$moUVo AmhoV?
H$) ‘yë¶m§H$Z H|$Ðo ¶mda {Q>n {bhm.
S>) à{ejU H$m¶©H«$‘mÀ¶m n[aUm‘m§Mo ‘yë¶m§H$Z H$aÊ¶mMr V§Ìo ñnï> H$am.
B) ‘{dH«$s d {dnUZ’ ¶m‘Yrb ’$aH$ ñnï> H$am.
’$>) {dnUZ {‘lMo ‘hËd gm§Jm.
¶) àMma {‘lMr CÕrîQ>ço ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr 1 àíZ gmoS>dm. [10]
A) ‘mZdr g§gmYZmMm AW© gm§JyZ Ë¶mMr CÔrï>o d ì¶már ñnï> H$am.
~) dñVy OrdMH«$m‘Yrb {d{dY nm¶-¶m ñnï> H$am.

… … …
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Q1) A) Attempt any Five [5]

i) Who controls the capital market in India?

a) SEBI b) RBI

c) IRDA d) NABARD

ii) Nifty is the index of

a) BSE b) OTCEL

c) NSE d) CSH

iii) Which of the following is not related with money market?

a) Treasure Bills b) Commercial money

c) Cheque d) Shares

iv) Who is the regulator of Insurance sector in India.

a) RBI b) SEBI

c) IRDA d) MCX

v) What is index of Bombay stock Exchange?

a) Sensex b) Nifty

c) Do-Jones d) Nikki

P.T.O.
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vi) The prime objective of SEBI Act, 1992 is the protect to interest of?
a) Creditor b) Investor
c) Chairman d) Director

B) Match the Pairs [5]
i) Regulator of Capital Market a) 1956
ii) SEBI b) SEBI
iii) Exchange Rate c) 1988
iv) UTI d) Foreign Exchange Market
v) LIC e) 1964

Q2) Attempt any five [25]
a) Explain in detail function of SEBI?
b) State the deficiencies of Indian Money Market?
c) State the function of foreign Exchange market?
d) Explain the concepts of Primary Market & secondary Market?
e) Write short note  career opportunities in Stock Market.
f) Write short note on Housing Finance Companies.
g) State the participants of Capital Market?

Q3) Attempt any five [25]
a) Write short note on IRDA
b) Explain in detail function of Indian Money market?
c) Write short note ‘Recent Development of foreign Exchange market’.
d) Write short note on NSE
e) State the types of Share Trading?
f) Write short note on Mutual fund.
g) Write short note on LIC.

Q4) Attempt any one. [10]
a) Define Indian financial system? Explain in detail Structure of Indian

financial system?
b) Define Capital Market? Explain in detail function of Capital Market?

… … …
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2) COì¶m ~mOyMo A§H$ nyU© JwU Xe©dVmV.
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à.à.à.à.à.1) A) H$moUVohr nmM àíZ gmoS>dm. [5]

i) ^maVmVrb ^m§S>db ~mOmamda H$moUmMo {Z¶§ÌU AgVo.

A) go~r ~) Ama. ~r. Am¶.

H$) Ama.Ama.S>r.E. S>) Zm~mS>©

ii) {ZâQ>r hm .................. Mm {ZX}em§H$ Amho.

A) ~r.Eg.B©. ~) Amo.Q>r.gr.B©.Eb.

H$) EZ.Eg.B©. S>) gr.Eg.EM.

iii) Imbrbn¡H$s H$moUVr ~m~ ZmZo~mOmaer {ZJS>rV Zmhr.

A) H$mofmJma nÌ ~) ì¶mdgmB©H$ n¡gm

H$) YZmXoe S>) g‘^mJ

iv) ^maVr¶ {d‘m joÌmMr {Z¶m‘H$ g§ñWm H$moUVr Amho?

A) Ama.~r.Am¶. ~) go~r

H$) Am¶.Ama.S>r.E. S>) E‘.gr.E³g.

v) ‘w§~B© eoAa ~mOmamMm {ZX}em§H$ ................ Amho.

A) goÝgo³g ~) {ZâQ>r

H$) S>mo-OmoÝg S>) {Z¸$s

vi) go~r H$m¶Xm 1992 Mo ‘w»¶ C{Xï> ................ Mo ajU Amho.
A) YZH$mo ~) J§wVdUyH$Xma
H$) AÜ¶j S>) g§MmbH$
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~) OmoS²>¶m Owidm. [5]
i) ^m§S>db ~mOma {Z¶m‘H$ A) 1956
ii) go~r ~) go~r

iii) {d{Z‘¶ Xa H$) 1988
iv) ¶w.Q>r.Am¶. S>) {dXoer {d{Z‘¶ ~mOma

v) LIC B) 1964

à.à.à.à.à.2) H$moUVohr nmM àíZ gmoS>dm. [25]
A) go~rMr H$m¶} ñnï> H$am.

~) ^maVr¶ ZmUo ~mOmamVrb H$‘VaVm ñnï> gm§Jm.

H$) {dXoer {d{Z‘¶ ~mOmamMr H$m¶} gm§Jm.

S>) àmW{‘H$ Am{U Xþæ¶‘ ~mOmamÀ¶m g§H$ënZm ñnï> H$am.

B) eoAa ~mOmamVrb H$[aAa g§Yr ¶mda Q>rn {bhm.

’$) Q>rn {bhm J¥h {dÎm H§$nÝ¶m.

¶>) ^m§S>db ~mOmamVrb gh^mJr KQ>H$ gm§Jm.

à.à.à.à.à.3) H$moUVohr nmM àíZ gmoS>dm. [25]
A) Q>rn {bhm IRDA.
~) ^maVr¶ ZmUo ~mOmamMr H$m¶} ñnï> H$am.

H$) {dXoer {d{Z‘¶ ~mOmamVrb AbrH$S>rb {dH$mg ¶mda Q>rn {bhm.

S>) Q>rn {bhm NSE.
B) eoAa Q´>oqS>JMo àH$ma gm§Jm.

’$) Q>rn {bhm nañna {ZYr.

¶>) ^maVr¶ Am¶w{d©‘m ‘hm‘§S>i Q>rn {bhm.

à.à.à.à.à.4) H$moUVohr EH$ àíZ gmoS>dm. [10]
A) ^maVr¶ {dÎmr¶ àUmbrMr ì¶m»¶m {bhm. ^maVr¶ {dÎmr¶ àUmbrMr aMZm g{dñVa ñnï> H$am.
~) ^m§S>db ~mOmamMr ì¶m»¶m {bhm. ^m§S>db ~mOmamMr H$m¶} g{dñVa ñnï> H$am.

… … …
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Q1) Attempt any ten out of twelve from the following [10×1=10]

a) The factories act come into existence in _____

i) 1948 ii) 1950

iii) 1970 iv) 1952

b) The right to information act come into existence in _____

i) 2006 ii) 2007

iii) 2005 iv) 2004

c) Which of the following are the principles of Ethics in business?

i) Honesty ii) Integrity

iii) Loyalty iv) All of these

d) Majority must prevails is the principle of ___ management.

i) Company ii) Business

iii) Partnership iv) Corporate

e) ______ When was the first industrial disputes act passed in India?

i) 1949 ii) 1930

iii) 1947 iv) 1977

P.T.O.
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f) ______ Means all remuneration paid in cash if their terms of the contract
are fulfilled.

i) Wages ii) Salary

iii) Incentive iv) None of these

g) ______ Means to be free from an obligation or liability imposed on
others.

i) Exempt ii) Deposit

iii) Pension iv) Amendment

h) ______ When did the employees provident fund Miscellaneous provisions
act come into force?

i) 1948 ii) 1953

iii) 1952 iv) 1968

i) ______ is a form of retirement benefits

i) Salary ii) Wages

iii) Provident fund iv) Tax

j) ______ Implies tyrannical and cruel treatment to any member or members.

i) Pension ii) Wages

iii) Oppression iv) Salary

k) ______Governance is a concept Rather than an individual instrument.

i) Social ii) Service

iii) Corporate iv) Public

l) ______ Is the state of being legally responsible for something.

i) Asset ii) Liability

iii) Wages iv) Salary
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Q2) Attempt any five out of seven from the following.                    [5×5=25]

a) Write short note on unfair labour practices.

b) Write a short note on provident fund

c) Explain the characteristics of company.

d) Write a short note on Audit.

e) Explain cadbury committee.

f) Explain objectives of the factories Act 1948.

g) Explain classification of labour laws.

Q3) Attempt any five out of seven from the following.  [5×5=25]

a) Explain the characteristics of company.

b) Mention the classification of labour laws.

c) Write a short note on the labour policy of India.

d) Write a short note on Incorporation of company.

e) State the legal provisions regarding compromise.

f) Write short note on corporate Governance.

g) Write a short note on medical benefit council.

Q4) Attempt any one out of two from the following. [1×10=10]

a) Explain the remedies and rights of the minority shareholders.

b) Explain the principles of business Ethics.


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Q1) Attempt any ten out of twelve from the following marks. [10×1=10]
a) Normal Bad debts is an example of __________ overheads.

(purchase / selling / prime / income)
b) Process Costing is a _______ of Costing.

( Technique / Tool / Method / Principle)
c) Cost of Insurance will be apportioned on the basis of _________

( Area Occupied / No. of Workers / Asset Value / Direct Material)
d) Overhead is an aggregation of ___________

( Direct Cost / Indirect Cost / Prime Cost / Imputed Cost)
e) ________ is the last step in Accounting of Overheads

( Collection / Classification / Apportionment / Absorption)
f) _________ costing is useful in construction industry.

( Job / Contract / Batch / Process)
g) Basis for apportionment of canteen expenses is ___________

( Area Occupied / Direct Material / No. of workers / Asset Value)
h) ___________ costing is useful in hotel industry.

(Job / Contract / Process / Service)
i) The Loss of the quantity in the process due to evaporation is _______

(Abnormal Gain / Abnormal Loss / Normal Loss / Spoilage)
j) __________ certifies the work in contract costing

(Contractor / Contractee / Architect / Supervisor)
k) Cost Accounting Standard 11 is about _________

(Employee Cost / Administrative Overheads / Material Cost /
Classification of Cost)

l) Total of all direct expenses is _________
(Overheads / Indirect Cost / Prime Cost / Sunk Cost)

P.T.O.
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Q2) Attempt any five out of seven from the following.                    [5×5=25]

a) Explain the importance of Activity Based Costing.

b) What do you mean by Abnormal Gain and Abnormal Loss in Process
costing?

c) Explain in detail element wise classification of cost.

d) Explain the features of contract costing.

e) Distinguish between Fixed overheads and Variable overheads.

f) Following is the data relating to a process - During a monthly period 1000
units are produced.

Particulars Process I

Direct material 2000

Direct labour 1500

Direct expense 300

Indirect expenses 2250

Prepare process I account showing the total cost per unit and transfer the
balance to Finished goods account.

g) A Delhi- Jaipur Transport Co. runs 4 buses between two towns which are
50 kilometres apart. The seating capacity of each bus is 50 passengers
and actual passengers carried are 80% of the seating capacity. All the 4
buses run on 25 days in a month and each bus makes one round trip per
day. Calculate passenger-Kilometres.

Q3) Attempt any five out of seven from the following.  [5×5=25]

a) Explain the concept of Batch Costing.

b) Describe Joint and By Products.

c) Distinguish between allocation and apportionment of overheads.

d) Explain the term ABC (Activity Based Costing).

e) What do you mean by under and Over Absorption of overheads?
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f) Ascertain the amount to be transferred to the Profit & Loss account in a
contract as per the data give below.
Value of Work Certified = Rs. 4,00,000
Contract Price = Rs. 6,00,000
Cash Received from contractee = Rs. 2,00,000

Notional Profit = Rs. 75,000
g) In I Ltd there are two Production Departments viz A and B and two

Service Departments C and D. C department provides services to A and
B in the ratio of 2:3 and D provides services to A and B in the ratio of 6:1

The other details as regards to the expenses and other charges for the
period ended 31st March 2021 are as follows.
Particulars Amt
Rent Rates and Taxes 40,000
Insurance 15,000

Electricity 5,000
Motive Power 20,000
Depreciation 2,00,000
Amenities to Staff 13,000
Additional Information

Particulars Production departments Service departments
“A” “B” “C” “D”

Assets value          Rs 10,00,000 5,00,000 4,00,000 1,00,000
Floor Area        sq..ft. 8000 6000 4000 2000

Number of Light
Points          Numbers 40 30 15 15
H.P. of machines H.P. 800 500 400 300
Number of workers

                   Numbers 75 50 50 25
Direct wages         Rs. 2200 1400 1000 875
You required to prepare a statement showing distribution of overheads
costs.
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Q4) Attempt any one out of two from the following. [1×10=10]

a) From the following data calculate the cost per running mile of Road
Lines Transport Co.

Particulars

Mileage run (annual) 15000 miles

Cost of vehicle Rs.250000

Road License (annual) Rs.7500

Annual Insurance Rs.7000

Annual Garage Rent Rs.7250

Supervision and Salaries (annual) Rs.24000

Drivers wages per hour Rs. 30

Cost of fuel per liter Rs.20

Miles run per liter 20 miles

Repairs and Maintenance per mile Rs. 1.65

Tyre Allocation Per mile  Rs. 0.80

Estimated life of vehicle 100000 miles

Charge interest at 15% on the cost of vehicle. The vehicle runs 20 miles
per hour on an average.

OR

b) Explain in detail:- Behavior wise and function wise classification of cost.





Q1) Fill in the blank (Any Ten) : [10]
i) The Government initiative ________ was launched to the Covid-19 impact

on MSME to provide financial support.
(Ayushman Bharat Yojna, Atmanirbhar Bharat Yojna, Pradhan Mantri
Abhas Yojna)

ii) ________ is the primary sector in which MSMEs operate.
(Education, Information Technology, Manufacturing and Services)

iii) District Industries Centers (DICs) are established to ________.
(facilitate large multinational corporations, provide financial aid to agricultural
sector, promote rural industrialization and entrepreneurship)

iv) ________ types of businesses are eligible for Udyog Adhaar Registration
and related benefits.
(Large corporations, Manufacturing, Micro Small & Medium
manufacturing and services)

v) ________ can lead to reduced access to credit, decreased consumer
spending and bankruptcies.
(Political, Financial, Cash)

vi) ______ Crisis can result in confusion, decreased morale, loss of
productivity and potential financial losses.
(Cash, Leadership, Prosperity)

vii) __________ is the basis for categorizing enterprises as Micro, Small,
or Medium.
(Age of company, Profitability, Size of company’s workforce &
investment)

viii) ________ is the primary role of a technical consultancy organization.
(Manufacturing products, Providing legal services, Advising in technical
fields)

Total No. of Questions : 4]
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ix) SISI is an organization established to primary assist __________.
(Large Enterprises, Medium Size Enterprises, Small & Micro Enterprises)

x) ______ type of Business Idea involves creating and selling online courses.
(Event Planning, Freelance Writing or Design, Online Course Platform)

xi) _______ is the focus of capacity building and skill development programs
for MSMEs.
(Promoting sustainability, Enhancing technical capabilities, Advocating
for policy)

xii) A start-up’s competitive advantage often lies in its _________.
(Production capacity, Uniqueness & Innovation, High Profitability)

Q2) Attempt Any Five : [25]
a) Discuss ‘Atma Nirbhar Bharat Abhiyan’.
b) Which services are covered under MSME.
c) Explain the concept of Project for Retail Store.
d) What is 'Khadi and Village Industries Commission'?
e) Explain the Steps in Business Plan.
f) Explain shortly ‘Turn Around Strategies’.
g) Explain the term ‘Start-Up’ with examples.

Q3) Attempt Any Five : [25]
a) What is the eligibility for the MSME?
b) Describe the Classification of Project.
c) What is Project Audit?
d) What is NIESBUD?
e) Explain the Technical Aspects in Business Plan.
f) What is Udyog Adhar Registration Consultancy?
g) What is Sickness?

Q4) Attempt Any One : [10]
a) Explain in detail the advantages of Start-up.
b) Explain in detail the reasons for failure of Project.


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àíZ àíZ àíZ àíZ àíZ 1) [aŠV OmJm ^am. (H$moUVohr Xg) [10]
i) Am{W©H$ ghmæ` XoÊ`mgmR>r MSME da H$mo{dS>-19 À`m à^mdmgmR>r ................ hm

gaH$mar CnH«$_ gwê$ H$aÊ`mV Ambm.
(Am ẁî_mZ ^maV `moOZm, AmË_{Z ©̂a ^maV `moOZm, àYmZ_§Ìr Am^mg `moOZm)

ii) ............. ho àmW{_H$ joÌ Amho Á`m_Ü ò E_EgE_B© H$m ©̀aV AmhoV.
({ejU, _m{hVr V§ÌkmZ, CËnmXZ Am{U godm)

iii) {Oëhm CÚmoJ H|$Ðo  (DICs) ................. `mgmR>r ñWmnZ H$aÊ`mV Ambr AmhoV.
(_moRçm ~hþamï´>r` H§$nÝ`m§Zm gw{dYm XoUo, H¥$fr joÌmbm Am{W©H$ _XV XoUo, J«m_rU
Am¡Úmo{JH$sH$aU Am{U CÚmoOH$Vobm MmbZm XoUo)

iv) .............. àH$maMo ì`dgm` CÚmoJ AmYma Zm|XUr Am{U g§~§{YV bm^m§gmR>r nmÌ AmhoV.
(_moRçm H§$nÝ`m, CËnmXZ, gyú_ bKw Am{U _Ü`_ CËnmXZ Am{U godm)

v) ............ _wio H«o${S>Q> À`m g§Yr H$_r hmoVmV, J«mhH$m§Mm IM© H$_r hmoVmo Am{U {XdmiImoar
hmoD$ eH$Vo.
(amOH$s`, Am{W©H$, amoI)

vi) ............ g§H$Q>m_wio Jm|Yi hmoUo, _ZmoY¡W© H$_r hmoUo, CËnmXH$Vm H$_r hmoUo Am{U g§̂ mì`
Am{W©H$ ZwH$gmZ hmoD$ eH$Vo.
(amoI, ZoV¥Ëd, g_¥Õr)

vii) gyú_, bKw qH$dm _Ü`_ Aem CÚmoJm§Mo dJuH$aU H$aÊ`mgmR>r ............ hm AmYma Amho.
(H§$nZrMm H$mbmdYr, Z\$m, H§$nZrÀ`m H$_©Mmè`m§Mr g§»`m Am{U Jw§VdUyH$)

viii) ............. hr Vm§{ÌH$ gëbmJma g§ñWoMr àmW{_H$ ŷ{_H$m Amho.
(CËnmXZo V`ma H$aUo, H$m`Xoera godm àXmZ H$aUo, Vm§{ÌH$ joÌmV gëbm XoUo)

3 P.T.O.
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ix) SISI hr ................ `m§gmR>r àmW{_H$ ghmæ`mgmR>r ñWmnZ Ho$bobr g§ñWm Amho.
(_moR>o CÚmoJ, _Ü`_ AmH$mamMo CÚmoJ, bKw Am{U gyú_ CnH«$_)

x) ............... àH$maÀ`m ì`dgm` H$ënZm `m_Ü`o Am°ZbmBZ H$mog© V`ma H$aUo Am{U
{dH«$s H$aUo `m§Mm g_mdof AgVmo.
(Bìh|Q> ßb°qZJ, \«$sbmÝg am`qQ>J qH$dm {S>PmBZ, Am°ZbmBZ H$mog© ßb°Q>\$m°_©)

xi) .................. ho E_EgE_B©À`m j_Vm {Z_m©U Am{U H$m¡eë` {dH$mg H$m ©̀H«$_m§Mo H|$Ðq~Xÿ
Amho.
(pñWaVobm MmbZm XoUo, Vm§{ÌH$ j_Vm dmT>dUo, YmoaUmgmR>r g_W©Z H$aUo)

xii) ñQ>mQ>©-AnMm ñnYm©Ë_H$ \$m`Xm AZoH$Xm Ë`mÀ`m ............... `m_Ü ò AgVmo.
(CËnmXZ j_Vm, doJionU Am{U Zm{dÝ`Vm, Cƒ Z\$m)

àíZ àíZ àíZ àíZ àíZ 2) H$moUVohr nmM àíZ gmoS>dm. [25]
A) "AmË_m {Z^m©a ^maV A{^`mZ' da MMm© H$am.
~) E_EgE_B© A§VJ©V H$moUË`m godm g_m{dï> AmhoV?
H$) [aQ>ob ñQ>moAagmR>r àH$ënmMr g§H$ënZm ñnï> H$am.
S>) "ImXr Am{U J«m_moÚmoJ Am`moJ' åhUOo H$m`?
B) ì`dgm` `moOZoVrb nm`è`m ñnï> H$am.
\$) "nwZê$ÁOrdZ aUZrVr' Mo WmoS>Š`mV ñnï>rH$aU H$am.
`) "ñQ>mQ>©-An' hr g§km CXmhaUm§gh ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) H$moUVohr nmM àíZ gmoS>dm. [25]
A) E_EgE_B©gmR>r H$m` nmÌVm Amho?
~) àH$ënmÀ`m dJuH$aUmMo dU©Z H$am.
H$) àmoOoŠQ> Am°{S>Q> åhUOo H$m`?
S>) EZ Am` B© Eg ~r ỳ S>r (NIESBUD) åhUOo H$m`?
B) ì`dgm` `moOZoVrb Vm§{ÌH$ ~m~r ñnï> H$am.
\$) CÚmoJ AmYma Zm|XUr gëbmJma åhUOo H$m`?
`) ì`mdgm{`H$ AmOmanU åhUOo H$m`?

àíZ àíZ àíZ àíZ àíZ 4) H$moUVohr EH$ gmoS>dm. [10]
A) ñQ>mQ>©-AnMo \$m`Xo Vnerbdma gm§Jm.
~) àH$ën An`er hmoÊ`mMr H$maUo g{dñVanUo gm§Jm.





Q1) A) Attempt any five : [5]
i) The quantity of a commodity purchased at a particular time at a

particular price is __________ of that commodity.
a) Supply b) Demand
c) Price d) Distribution

ii) ___________ organization it is a charity organization.
a) Business organization
b) Non-Business organization
c) Government organization
d) None of above

iii) __________ means there is an action plan in away.
a) Brand strategy b) New Brand
c) Sale of goods d) Purchase of goods

iv) __________ is an important part of the digital economy.
a) Market place b) Business
c) Email marketing d) Currency

v) __________Exploitation of consumers can be stopped on the basis
of following law's.
a) Consumer Act b) Consumer protection Act
c) Patent Act d) Right Act

vi) Doing business with more than one nation means___________
a) Local business b) Global Business
c) National business d) None of above

Total No. of Questions : 4]
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B) Match the pairs : [5]
i) Non profit organization a) Time series Analysis
ii) Patent Act b) 1999
iii) Consumer Protection Act c) 2002
iv) Trade Mark Act d) 1986
v) Forecasting Techniques e) Chairtable trust

Q2) Attempt any Five. [25]
a) Explain the types of Non-Profit organization.
b) Short note on Marketing organization.
c) Explain the types of Brand Building strategies.
d) Short note on Bureay of Indian standard Act.
e) Explain the features of Global Marketing.
f) Explain the importance of cyber security marketing.
g) Explain the features of Agri Products.

Q3) Attempt any Five. [25]
a) Explain the problems of Non-Profit organizations?
b) Explain the types of marketing organization?
c) Short note on Brand strategy?
d) Explain the function of Bureau of Indian standard Act?
e) Short note on Global marketing strategies.
f) Explain the types of Agriculture marketing.
g) Short note on Trade Act 1999.

Q4) Attempt Any one. [10]
a) Define sales forecasting? Explain in detail forecasting methods?
b) Explain the need and importance of cyber security marketing?


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àíZ 1) A) H$moUVohr nmM àíZ gmoS>dm. [5]
i) {d{eï> doir, {d{eï> {H$‘Vrbm dñV§wMo {OVHo$ ZJ IaoXr Ho$bo OmVmV Vr Ë¶m dñVwMr

.............. hmo¶.
A) nwadR>m ~) ‘mJUr
H$) qH$‘V S>) {dVaU

ii) Y‘©Xm¶ g§ñWm {h ........... g§ñWm Amho.

A) ì¶mdgm{¶H$ g§ñWm ~) A-ì¶mdgm{¶H$ g§ñWm
H$) emgH$s¶ g§ñWm S>) ¶m n¡H$s Zmhr

iii) ............. åhUOo EH$ àH$mao H¥$Vr AmamIS>m AgVmo.

A) {MÝhm§H$U ì¶whaMZm ~) Z{dZ ~«°ÝS>
H$) dñV§wMr {dH«$s S>) dñV§wMr IaoXr

iv) ............ hm {S>OrQ>b {dnUZmMm EH$ ‘hËdmMm ^mJ Amho.

A) ~mOmanoR> ~) ì¶mdgm¶
H$) B©-‘ob {dnUZ S) MbZ

v) .............. ¶m H$m¶XçmÀ¶m AmYmao J«mhH$m§Mo hmoUmao emofU Wm§~drVm ¶oVo.

A) J«mhH$ H$m¶Xm ~) J«mhH$ g§ajU H$m¶Xm
H$) noQ>§Q> H$m¶Xm S>) h¸$ H$m¶Xm

vi) EH$m nojm A{YH$ amï´>mgmo~V ì¶dgm¶ H$aUo åhUOo ............ hmo¶.

A) ñWm{ZH$ ì¶dgm¶ ~) OmJ{VH$ ì¶dgm¶
H$) amï´>r¶ ì¶dgm¶ S>) ¶m n¡H$s Zmhr

3 P.T.O.
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~) OmoSçm Owidm. [5]
A) {dZm Z’$m g§ñWm i) doi ‘m{bH$m {díbofU

~) noQ>§Q> H$m¶Xm ii) 1999

H$) J«mhH$ g§ajU H$m¶Xm iii) 2002

S>) ì¶mnma {MÝh H$m¶Xm iv) 1986

B) {dH«$s  A§OmX V§Ì v) Y‘m©Xm¶ g§ñWm

àíZ 2) H$moUVohr nmM àíZ gmoS>dm. [25]
A) {dZm Z’$m g§ñWoMo àH$ma ñnï> H$am.

~) {dnUZ g§KQ>Zm {Q>n {bhm.

H$) {MÝhm§H$U ì¶whaMZoMo àH$ma ñnï> H$am.

S>) ^maVr¶ à‘mUH$ A{Y{Z¶‘ {Q>n {bhm.

B) OmJ{VH$ {dnUZmMr d¡{eï>ço ñnï> H$am?

’$) gm¶~a {g³¶w[aQ>r {dnUZmMo ‘hËd gm§Jm?

¶) H¥$fr CËnmXZm§Mr d¡{eï>ço ñnï> H$am?

àíZ 3) H$moUVohr nmM àíZ gmoS>dm. [25]
A) {dZm Z’$m g§ñWm§Zm ôS>gdZmè¶m g‘ñ¶m ñnï> H$am.

~) {dnUZ g§KQ>ZoMo àH$ma ñnï> H$am?

H$) {Q>n {bhm {MÝhm§H$U ì¶whaMZm.

S>) ^maVr¶ Zm‘m§H$Z H$m¶m©b¶mMr H$m¶©o ñnï> H$am?

B) {Q>n {bhm OmJ{VH$ {dnUZ ì¶dñWmnZmMo YmoaU

’$) H¥$fr {dnUZmMo àH$ma ñnï> H$am?

¶) {Q>n {bhm ì¶mnmar {MÝh H$m¶Xm 1999

àíZ 4) H$moUVmhr EH$ àíZ gmoS>dm. [10]
A) {dH«$s A§XmOmMr ì¶m»¶m gm§JwZ {dH«$s A§XmOmÀ¶m nX²YVr ñnï> H$am?

~) gm¶~a {g³¶w[aQ>r {dnUZmMr JaO Am{U ‘hÎd ñnï> H$am?





Q1) Attempt any Ten out of Twelve from the following : [10]

a) What is surrender value?

b) What is premium?

c) What is Nomination?

d) What is mean by convertible policies?

e) Define Time value of money.

f) Define Uncertainty.

g) What is Tourism Demand?

h) Define Transport.

i) Define - Travel Agent.

j) What is tour sector?

k) What is mean by Tourist Accommodation?

l) What is full form IATO?
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Q2) Attempt any Five out of Seven from the following : [25]

a) Classify the financial and non-financial risks.

b) Write short note on Days of Grace.

c) What are the basic features of marine insurance?

d) Explain the Relationship Between Tourism and Transport.

e) State the types of Tourist Accommodations.

f) State the role of UNWTO.

g) Discuss the functions of TAAI.

Q3) Attempt any Five out of Seven from the following : [25]

a) Paid up Policy.

b) Types of Marine Insurance.

c) State the Investment aspect of Life Insurance.

d) State the features of the Motor Vehicle Act 1888.

e) Type of Transport.

f) Career in Tourism Business in India.

g) State the Importance of tour operator.

Q4) Attempt any One out of Two from the following : [10]

a) What is mean by Tour operator? State Types and Functions of Tour
operator.

b) What are the main features of Consumer Protection Act 1986?


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àíZ àíZ àíZ àíZ àíZ 1) Imbrb n¡H$s H$moUVohr Xhm àíZ gmoS>dm. [10]

A) ga|S>a ìh°ë ỳ (gmoS> qH$_V) åhUOo H$m`?

~) àr{_`_ ({d_m hám) åhUOo H$m`?

H$) Zm_m§H$Z åhUOo H$m`?

S>) n[adV©Zr` {d_mnÌ åhUOo H$m`?

B) n¡emMo doioMo _yë` n[a^m{fV H$am.

\$) A{ZpíMVVoMr ì`m»`m H$am.

`) n ©̀Q>ZmMr _mJUr åhUOo H$m`?

a) dmhVwH$sMr ì`m»`m H$am.

b) ì`m»`m H$am- Q´>°ìhb EO§Q>

d) Q>ÿa joÌ åhUOo H$m`?

e) n ©̀Q>H$ {Zdmg åhUOo H$m`?

f) IATO åhUOo H$m`?

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrb n¡H$s H$moUVohr nmM àíZ gmoS>dm. [25]

A) Am{W©H$ Am{U J¡a-Am{W©H$ OmoI_tMo dJuH$aU H$am.

~) gdbVrMo {Xdg (S>oO Am°\$ J«og) da WmoS>Š`mV Q>rn {bhm.

H$) gmJar {då`mMr _yb ŷV d¡{eï>ço H$moUVr AmhoV?

S>) n ©̀Q>Z Am{U dmhVyH$ `m§À`mVrb g§~§Y ñnï> H$am.

B) n ©̀Q>H$m§À`m {ZdmgmMo àH$ma gm§Jm.

\$) UNWTO Mr ŷ{_H$m gm§Jm.

`) TAAI À`m H$m`m©Mr MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb n¡H$s H$moUVohr nmM àíZ gmoS>dm. [25]

A) (noS> An) hám_wŠV {d_mnÌ

~) gmJar {då`mMo àH$ma

H$) OrdZ {då`mÀ`m J§wVdUwH$sMo n¡by gm§Jm.

S>) _moQ>ma dmhZ H$m`Xm 1888 Mr d¡{eï>ço gm§Jm.

B) dmhVwH$sMo àH$ma

\$) ^maVmV n ©̀Q>Z ì`dgm`mV H$[aAa

`) Qy>a Am°naoQ>aMo _hËd gm§Jm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb XmoZ àíZmn¡H$s H$moUVmhr EH$ àíZ gmoS>dm. [10]

A) Qy>a Am°naoQ>a åhUOo H$m`? Qy>a Am°naoQ>aMo àH$ma Am{U H$m }̀ gm§Jm.

~) J«mhH$ g§ajU H$m`Xm 1986 Mr _w»` d¡{eï²> ò H$moUVr AmhoV.





Q1) Attempt any Ten out of Twelve from the following : [10 × 1 = 10]
i) Funds raised through loans or borrowings are ________.

a) Borrowed funds b) Owners equity
c) Share capital d) None of these

ii) Equity shareholders are called ________.
a) Owners of the company b) Partners of the company
c) Executives of the company d) Guardian of the company

iii) Which of the following industries should be located near the vicinity of
raw materials?
a) Cycles b) Televisions
c) Sewing machines d) Steel mills

iv) Which of these is not a part of Capital Structure?
a) Equity Shares b) Debentures
c) Short-term borrowings d) Bonds

v) In the ABC Analysis system the B category stands for _______.
a) Outstanding importance in value
b) Comparatively unimportant in value
c) Comparatively important in value
d) Average importance in value

vi) _________ is at the heart of production function.
a) Control sub system b) Conversion sub system
c) Inventory Sub System d) Raw material sub system
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vii) A production system model consists of _______.
a) Inputs & Outputs b) Conversion sub system
c) Control Sub System d) All of the above

viii) Production planning includes ________.
a) Planning production budget b) Operation Layout
c) Order Booking from market d) Supply Chain

ix) ______ is the mediator in the distribution chain cycle.
a) Broker b) Retailer
c) Seller d) Shareholder

x) Most important clement for production process is _______.
a) Raw material b) Finance
c) Machinery d) Goodwill

xi) ABC analysis is used in ________.
a) CPM b) PERT
c) Inventory Control d) None of these

xii) JIT technique does not include _________.
a) Flexibility b) Quality of working life
c) Line-Stop Authority d) None of these

Q2) Attempt any five out of seven from the following : [5 × 5 = 25]
a) Explain the nature of Financial Planning.
b) Write a note on Under Capitalization.
c) Explain the concepts of Risk and Return.
d) Explain the Importance of Production Planning.
e) Write a techniques of Plant Layout.
f) Write a note on Artificial Intelligence (AI).
g) Write a note on Bombay Stock Exchange (BSE).

Q3) Attempt any five out of seven from the following : [5 × 5 = 25]
a) Write a note on cost of capital.
b) Explain the need for product control.
c) What is ABC Analysis?
d) What is a linear layout?
e) What is Supply Chain Management?
f) State the objectives of financial planning.
g) Explain the characteristics of an equity shares.

Q4) Attempt any one from the following : [1 × 10 = 10]
a) What is Business Financing? Explain its nature and importance.
b) What is Debenture? Explain their characteristics.


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2) COì`m ~mOyMo AmH$S>o nyU© JwU Xe©{dVmV.
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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUVohr 10 àíZ gmoS>m. (àË òH$s 1 JwU) [10]
i) H$O© qH$dm H$Om©Ûmao C^mabobm {ZYr .............. Amho.

A) CYma KoVbobm {ZYr ~) _mbH$m§Mr B{ŠdQ>r
H$) ^mJ ^m§S>db S>) `mn¡H$s H$mhrhr Zmhr

ii) g_hŠH$ ^mJYmaH$m§Zm ................ åhUVmV.
A) H§$nZrMo _mbH$ ~) H§$nZrMo ^mJrXma
H$) H§$nZrMo A{YH$mar S>) H§$nZrMo nmbH$

iii) Imbrbn¡H$s H$moUVm CÚmoJ H$À`m _mbmÀ`m Odi Agmdm?
A) gm`H$b ~) XÿaXe©Z
H$) {ebmB© _erZ S>) nmobmX {JaÊ`m

iv) `mn¡H$s H$moUVm ^m§S>dbr g§aMZoMm ^mJ Zmhr?
A) g_hŠH$ eoAg© ~) H$O©amoIo
H$) AënH$mbrZ H$O© S>) ~m°ÝS>g

v) E.~r.gr. (ABC) {díbofU àUmbr_Ü ò "~r.' (B) loUr ............ Mm AW© Amho.
A) _yë`mV CËH¥$ï> _hÎd
~) _yë`mV VwbZmË_H$Ñï>çm {~Z_hÎdmMo
H$) VwbZoZo _hÎdmMo
S>) _yë`m_Ü ò gamgar _hÎd

vi) ............. CËnmXZ H$m`m©À`m H|$ÐñWmZr Amho.
A) {Z`§ÌU CnàUmbr ~) ê$nm§VaU CnàUmbr
H$) BÝìh|Q>ar g~ {gñQ>_ S>) H$ƒm _mb CnàUmbr

vii) CËnmXZ àUmbr _m°S>ob_Ü ò .................. AgVmV.
A) BZnwQ> Am{U AmCQ>nwQ> ~) ê$nm§VaU Cn àUmbr
H$) {Z §̀ÌU Cn àUmbr S>) darb gd©

3 P.T.O.
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viii) CËnmXZ {Z`moOZmV ............. `m§Mm g_mdoe hmoVmo.
A) CËnmXZ {Z`moOZ Am§XmO ~) Am°naoeZ boAmCQ>
H$) _mH}$Q>_YyZ Am°S>©a ~wH$ H$aUo S>) nwadR>m gmIir

ix) {dVaU gmIir MH«$mVrb _Ü`ñW ................. Amho.
A) Xbmb ~) {H$aH$moi {dH«o$Vm
H$) {dH«o$Vm S>) ^mJYmaH$

x) CËnmXZ à{H«$ ògmR>r gdm©V _hÎdmMm KQ>H$ ............... Amho.
A) H$ƒm _mb ~) {dÎm
H$) §̀Ìgm_J«r S>) Zmdbm¡{H$H$

xi) ABC {díbofU ............... _Ü`o dmnabo OmVo.
A) grnrE_ ~) nQ>©
H$) gmR>m {Z §̀ÌU S>) `mn¡H$s H$mhrhr Zmhr

xii) OñQ> BZ Q>mB©_ (JIT) V§ÌmV .................... ̀ mMm g_m{dï> Zmhr.
A) bd{MH$Vm ~) H$m_H$mOmÀ`m OrdZmMr JwUdÎmm
H$) bmBZ-ñQ>m°n àm{YH$aU S>) `mn¡H$s H$mhrhr Zmhr

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>m. (àË òH$s 5 JwU) [25]
A) Am{W©H$ {Z`moOZmMo ñdê$n ñnï> H$am.
~) H$_r ^m§S>dbrH$aU `mda Q>rn {bhm.
H$) OmoIr_ Am{U naVmdm `m g§H$ënZm ñnï> H$am.
S>) CËnmXZ {Z`moOZmMo _hÎd ñnï> H$am.
B) g§̀ §Ì AmamIS>çmMo V§Ì {bhm.
\$) Am{Q>©{\${e`b B§Q>o{bOÝg (AI) da Q>rn {bhm.
`) ~m°å~o ñQ>m°H$ EŠgM|O (BSE) da Q>rn {bhm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>m. (àË òH$s 5 JwU) [25]
A) ^m§S>dbmMr qH$_V `mda Q>rn {bhm.
~) CËnmXZmÀ`m {Z §̀ÌUmMr JaO ñnï> H$am.
H$) E~rgr {díbofU (ABC Analysis) åhUOo H$m`?
S>) aofr` AmamIS>m åhUOo H$m`?
B) nwadR>m gmIir ì`dñWmnZ åhUOo H$m`?
\$) {dÎmr` {Z`moOZmMr C{Ôï>o gm§Jm.
`) gm_mÝ` ^mJmMr d¡{eï>o ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVohr 1 àíZ gmoS>m. (10 JwU) [10]
A) ì`dgm{`H$ {dÎm nwadR>m åhUOo H$m`? Ë`mMo ñdê$n Am{U _hÎd ñnï> H$am.
~) H$O©amoIo åhUOo H$m`? Ë`m§Mr d¡{eï>ço ñnï> H$am.





Q1) Attempt any Ten : [10]
i) __________ is a postdated cheque.

a) Next dated b) Before three month
c) Before six month d) None of above

ii) What is the full form of KYC.
a) Know Your customer b) Know our customer
c) Know your custom d) None of above

iii) Banking Regulation Act1949, Bank Reserve in the section_______
a) Section 5 b) Section 17
c) Section 11 d) Section 24

iv) A Bank that collect the amount of a cheque on behalf of a customer is
called a ____________ Bank.
a) Collecting Bank b) Paying Bank
c) SBI d) None of above

v) __________ is not negotiable instrument.
a) Gift b) Promissory Note
c) Bill of Exchange d) Cheque

vi) In ___________ year Indian Banking ombudsman scheme started.
a) 2006 b) 2000
c) 2005 d) 1949

vii) Insolvency and bankruptcy Act  ___________
a) 2000 b) 2005
c) 2016 d) 2004

viii) The information and technology Act was passed by the Government of
India In ___________ year.
a) 1999 b) 2000
c) 2001 d) 2002
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ix) A loan sanctioned with __________is called a secured loan.
a) Pledies b) Guarantor
c) Dont require collateral d) None of above

x) Bank offer education loans for _________
a) Merchant b) Student
c) Partnership firm d) Large companies

xi) Negotiable Instrument Act _________.
a) 1881 b) 1942
c) 1949 d) 1883

xii) Banking is defined in __________
a) RBI Act b) Banking Regulation Act
c) Govt. of India Act d) Companies Act

Q2) Attempt any Five. [25]
a) Explain Loan recovery Non legal measures.
b) Short note on Mortgage.
c) Explain the objective of Insolvency and Bankruptcy code - 2016.
d) Difference between a promissory Note & Bill of Exchange.
e) Explain loan Recovery legal measures.
f) Explain collecting Bank right's.
g) Explain Bank and customer Relationship.

Q3) Attempt any Five. [25]
a) Explain types of secured Loans.
b) Short note on 'Garnishee order'.
c) State the paying Bank power.
d) Short note on Impact of Cyber Crime on Banking sector.
e) Explain power and duties of Banking ombudsman.
f) Short note on insolvency and Bankruptcy Board of India.
g) Explain characteristics of the Bill of Exchange.

Q4) Attempt Any one. [10]
a) Explain selected provisions of the Banking Regulation Act - 1949.
b) Explain in detail types of Cyber Crime.


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àíZ 1) H$moUVohr 10 àíZ gmoS>dm. [10]
i) CÎma {XZm§H$sV YZmXoe åhUOo ..............

A) nwT>rb VmaIoMm ~) VrZ ‘hrZo A{YÀ¶m VmaIoMm
H$) ghm ‘{hZo A{YÀ¶m VmaIoMm S>) ¶m n¡H$s Zmhr

ii) KYC Mo nyU© én {bhm.
A) Know your customer ~) Know our customer
H$) Know your custom S>) None of above

iii) ~±qH$J {Z¶‘Z H$m¶Xm 1949 H$b‘ ............. ‘Ü¶o am{Id {ZYrMr VaVwX Amho.
A) H$b‘ 5 ~) H$b‘ 17
H$) H$b‘ 11 S>) H$b‘ 24

iv) J«mhH$mÀ¶m dVrZo YZmXoemMr a¸$‘ dgwb H$aZmar ~±H$ ............
A) dgwbr ~) àXm¶r
H$) SBI S) ¶m n¡H$s Zmhr

v) .............. ho MbZj‘ XñVE¡dO Zmhr.
A) ôQ>dñVw ~) dMZ{MR²>R>r
H$) {dZr‘¶ nÌ S>) YZmXoe

vi) ~°qH$J bmoH$nmb ¶moOZm ................ gmbr bmJw Ho$br.
A) 2006 ~) 2000
H$) 2005 S>) 1949

vii) ZmXmar Am{U {XdmiImoar H$m¶Xm ................ gmbr bmJw Pmbm.
A) 2000 ~) 2005
H$) 2016 S>) 2004

viii) ‘m{hVr V§ÌkmZ H$m¶Xm ^maV gaH$maZo ........... gmbr ‘§Owa Ho$bm.
A) 1999 ~) 2000
H$) 2001 S>) 2002

3 P.T.O.
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ix) .......... KodwZ ‘§Owa Ho$boë¶m H$Om©g gwa{jV H$O© åhUVmV.
A) VmaU ~) Om‘rZXma
H$) {dZmVmaU S>) ¶m n¡H$s Zmhr

x) ~±H$m ................ gmR>r e¡j{UH$ H$O© XoVmV.
A) ì¶mnmar ~) {dÜ¶mWu
H$) ^mJrXmar g§ñWm S>) ‘moR>çm H§$nÝ¶m

ix) MbZj‘ XñVE¡dO H$m¶Xm ........... ‘Ü¶o g‘§V H$aÊ¶mV Ambm.
A) 1881 ~) 1942
H$) 1949 S>) 1883

xii) ~±Ho$Mr ì¶m»¶m .............. H$m¶XçmZwgma Amho.
A) R.B.I. H$m¶Xm ~) ~±H$sJ {Z¶‘Z H$m¶Xm
H$) ^maV gaH$ma H$m¶Xm S>) H§$nZr H$m¶Xm

àíZ 2) H$moUVohr nmM àíZ gmoS>dm. [25]
A) H$O© dgwbrÀ¶m {~Ja H$m¶Xoera Cnm¶¶moOZm ñnîQ> H$am.
~) {Q>n {bhm JhmU
H$) ZmXmar d {XdmiImoar ‘§S>imMr C{Ôï>o {bhm.
S>) dMZnÌ d {dZr‘¶ nÌ ’$aH$ ñnï> H$am.
B) H$O© dgwbrÀ¶m H$m¶Xoera Cnm¶¶moOZm ñnï> H$am.
’$) dgwbr ~±Ho$Mo h¸$/A{YH$ma ñnï> H$am.
¶) ~±H$ d J«mhH$ ¶m§À¶mVrb ZmVog§~§Y ñnï> H$am.

àíZ 3) H$moUVohr nmM àíZ gmoS>dm. [25]
A) gwa{jV H$Om©Mo àH$ma ñnï> H$am.
~) H$O©o ‘w³Vr AmXoe {Q>n {bhm.
H$) àXm¶r ~±Ho$Mo A{YH$ma gm§Jm.
S>) gm¶~a H«$mB©‘Mm ~±qH$J joÌmda Pmbobm n[aUm‘ {Q>n {bhm.
B) ~°qH$J bmoH$nmbmÀ¶m A{YH$ma Am{U O~m~Xmè¶m ñnîQ> H$am.
’$) ^maVr¶ ZmXmar Am{U {XdmiImoar ‘hm‘§S>i {Q>n {bhm.
¶) {dZr‘¶ nÌmMr d¡{eï>¶o ñnï> H$am.

àíZ 4) H$moUVmhr EH$ àíZ gmoS>dm. [10]
A) ~±qH$J {Z¶‘Z H$m¶Xm 1949 ‘Yrb {ZdS>H$ VaVwXr ñnï> H$am.

~) gm¶~a JwÝhm§Mo àH$ma g{dñVa ñnï> H$am.





Q1) Attempt any Ten out of Twelve from the following : [10 × 1 = 10]

a) Section ___________ deals with confiscation of goods attempted to
be improperly exported.

(120, 111, 113, 119)

b) _______ Is the authority vested with responsibility for the administration
of laws related to direct taxes.

(CGST, CBDT, ITC, CBEC)

c) GST is _________ tax.

(Direct, Indirect, Input, Output)

d) In IGST, "I" stand for __________.

(Intra, Internal, International, Integrated)

e) Section ___________ of Companies Act deals with internal audit.

(125, 127, 138, 139)

f) __________ is the mechanism where the suppliers of goods or services
are liable to pay tax.

(Backward Charge, Forward Charge, Reverse Charge, Surcharge)
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g) Dividend must be paid within ____________ days of the proclamation
date.

(30, 15, 25, 20)

h) Maximum number of directorships including alternate director ship is
________.

(5, 10, 15, 20)

i) The person in whose place the alternate director is to be appointed should
be absent for a period of not less than ________ months from India.

(3, 4, 5,6)

j) _________ Give an overview of custom laws and procedures.

(Custom Manual, Custom Rule, Custom Act, Custom Report)

k) ___________ Goods are those that are chargeable to duty and on which
duty has not yet been paid.

(Dutiable, Imported, Exported, Physical)

l) GST Stands for ___________.

(Goods and Service Tax, Goods and Service Tag, Government Service
Tax, All of these)

Q2) Attempt any Five out of Seven from the following : [5 × 5 = 25]

a) What are the objectives of cost audit?

b) What is the qualification and disqualification of an auditor?

c) Distinguish between Interim Dividend & Final Dividend

d) State the methods of valuation for customs.

e) Write short note on NFRA.

f) What is the penalty for delay and not filing the GST return?

g) What details are required to fill in GSTR-l?
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Q3) Attempt any Five out of Seven from the following : [5 × 5 = 25]

a) Explain the composition & working of the GST Council.

b) Explain scope and objects of the Custom Act.

c) What are the functions of Goods & Services Tax Network(GSTN)?

d) What are the general provisions relating to the appointment of directors?

e) What is the role of the Central Board of Excise and Customs (CBEC)
under the GST regime?

f) Explain role and objectives of Investors Education and Protection Fund
(IEPF).

g) Explain Scope of Customs Act.

Q4) Attempt any One out of Two from the following : [1 × 10 = 10]

a) What do you mean by Cost Audit? State the rights, duties, responsibilities
& liabilities of the cost auditor.

b) Explain Types of GST.


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Q1) Attempt any Ten out of the Twelve from the following: [10]

a) Marginal Costing is also known as _____________.

i) Variable Costing ii) Direct Costing

iii) Both (i) and (ii) iv) None of the above

b) Technique of Marginal Costing is a valuable aid to the __________.

i) Management ii) Shareholders

iii) Employees iv) Customers

c) The margin of safety is the difference between _________ Sales and
Break-Even Sales.

i) Budgeted Sales ii) Actual Sales

iii) Cash Sales iv) Credit Sales

d) Fixed Cost includes __________.

i) Rent ii) Insurance Premium

iii) Property Tax iv) All of the above

e) Flexible budget is also known as ___________ budget.

i) Variable ii) Fixed

iii) Cash iv) Sales

f) _________ costs are also called as Period Costs.

i) Variable ii) Fixed

iii) Semi-Variable iv) None of the above

P.T.O.
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g) A plant utilization budget is prepared by ________ Manager.

i) Sales ii) Purchase

iii) Production iv) Finance

h) Inter-firm comparisons are most useful for measuring _________.

i) Performance ii) Product

iii) Price iv) Place

i) M.I.S. stands for ____________.

i) Management Information System

ii) Management Internal System

iii) Management Intelligence System

iv) Market Information System

j) Uniform Costing aids in ___________.

i) Facilitates Price Fixation

ii) Promotes Healthy Competition

iii) Locate Weak-Spots

iv) All of the above

k) Cost audit is to be conducted by a cost auditor who is a _________.

i) Qualified cost and management accountant

ii) Qualified Chartered Accountant

iii) Qualified Company Secretary

iv) Any Indian Resident

l) The basic purpose of cost audit is to establish the accuracy of _______
accounts.

i) Financial ii) Cost

iii) Management iv) None of the above
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Q2) Attempt any five out of seven from the following: [25]

a) Birla Ltd., Baroda has prepared the following budget estimated for the
year 2021-22.

Sales Value : R 1,50,000

Fixed Cost : R 34,000

Variable Cost : R 90,000

You are required to calculate P/V Ratio and BEP Sales.

b) State the important features of fixed cost.

c) State the advantages of Marginal Costing.

d) Explain the duties of cost auditor.

e) State the important objectives of Budgetary Control.

f) Distinguish between uniform costing and inter-firm comparison.

g) From the following cost data of Material X compute the following cost
variance:

i) Material Cost Variance

ii) Material Price Variance

Standard Quantity Standard Price Actual Quantity Actual Price

(Units) (R) (Units) (R)

   40 10 20 5

Q3) Attempt any five out of seven from the following: [25]

a) What are the limitations of Marginal Costing?

b) From the following particulars calculate,

i) Contribution per unit

ii) P/V ratio

iii) BEP (in units)

Fixed Expenses : R 1,50,000

Selling Price Per Unit : R 15

Variable Cost Per Unit : R 10
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c) State the important features of Budget.

d) Write a note on advantages of Uniform Costing.

e) What are the advantages of Standard Costing?

f) What are the types of cost audit?

g) From the following cost data made available, calculate:

i) Labour Cost Variance

ii) Labour Rate Variance

Standard Hours Standard Rate Actual Hours Actual Rate

(Hrs.) (R) (Hrs.) (R)

1,000 0.75 1,100 0.80

Q4) Attempt any one of the two from the following: [10]

a) Define cost audit. State objectives and advantages of cost audit.

b) The statement given below gives the Flexible Budget at 60% capacity of

Finswell Ltd., Jaipur. Prepare a tabulated statement giving the budget

figures at 75% and 90% capacity where no indication has been given.

Make your own classification of expenses between fixed, variable and

semi-variable expenses as per Tabular Method.

Particulars 60% Capacity

Direct Materials 1,60,000

Salaries to staff 60,000

Productive wages 40,000

Rent 12,000

Indirect Materials 48,000

Insurance of Machinery 12,000

Indirect Labour 40,000

Electric Power (40% Fixed) 8,000

Repairs and Maintenance (60% Fixed) 20,000


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Q1) Fill in the blanks (Any 10) [10]
i) Organizational culture refers to ______

(Physical Layout, Financial Performance, Beliefs and norms)
ii) ____ is one of the core components of Emotional Intelligence.

(Logical Reasoning, Empathy, Linguistic Ability)
iii) _______ digital marketing channel played significant role during covid-

19 lockdowns.
(Telemarketing, Social Media Marketing, Print Advertisement)

iv) ______ is important for fostering a positive team culture in
entrepreneurship.
(Encouraging learning from failures, Minimizing diversity, Discouraging
open communication)

v) _______ is one of the psychological consequences associated with
chronic stress.
(Depression, Satisfaction, Heightened creativity)

vi) Providing employees with opportunities for growth, learning and decision-
making are the aims of______.
(Job Analysis, Job Evaluation, Job Enrichment)

vii) Entrepreneurs often have a higher need for _________, which motivate
them to set and achieve ambitious goals.
(Routine, Predictability, Autonomy)

viii) Laxmi Mittal’s company merged with _______ in 2006.
(Arcelor, Tata Steel, Essar Steel)

ix) A group leader who encourages open discussions, values diverse
perspectives, and helps resolve conflicts is promoting ______
(Conformity, Negative Group Dynamics, Positive Group Dynamics)

P.T.O.



2[6032]-SODL-3014

x) In  _____ type of conflict management, parties involved in the conflict
work together to find a mutually acceptable solution.
(Collaboration, Compromise, Accommodation)

xi) ______ encourages individuals to seek opportunities for self-improvement
and personal growth.
(Group Task, Team, Motivation)

xii) Email Marketing is used to ______.
(send spam mail only, send targeted emails to a group, create an online
stores)

Q2) Attempt Any Five : [25]
a) Explain the characteristics of Organizational Behavior.
b) Describe the determinants of Individual Behavior.
c) Describe how Mr. Anand Mahindra can inspire anyone for

entrepreneurship.
d) State the process for Group Formation.
e) Discuss the Corporate Training.
f) What are the various types of the stress in entrepreneurship?
g) Discuss the Role of Entrepreneur.

Q3) Attempt Any Five : [25]
a) State the need of motivation for entrepreneurs.
b) What is Personality Traits?
c) Discuss the journey and career of Managing Director of Bharat Forge,

Mr. Baba Kalyani.
d) Explain the concept ‘Management By Objective’
e) Discuss the ‘Theories of Conflict Management’.
f) What is the meaning of Job Enlargement?
g) Discuss the 4 P’s of Digital Marketing.

Q4) Attempt Any One : [10]
a) Explain in detail the role of Covid-19 in Digital Marketing for enhancing

entrepreneurship.
b) Which factors influence on Conflict Management in Entrepreneurship?


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à.à.à.à.à.1) [aH$må¶m OmJr ¶mo½¶ eãX ^am. (H$moUVohr Xhm) [10]
i) g§KQ>ZmË‘H$ g§ñH¥$Vr ................ Mm g§X^© XoVo.

(^m¡{VH$ ‘m§S>Ur, Am{W©H$ H$m‘{Jar, {dœmg Am{U {Z¶‘)
ii) .............. hm ^md{ZH$ ~w{Õ‘ÎmoÀ¶m ‘w»¶ KQ>H$m§n¡H$s EH$ Amho.

(Vm{H©$H$ VH©$, ghmZŵ yVr, ^m{fH$ j‘Vm)
iii) ........ {S>{OQ>b ‘mH}$qQ>J M°ZobZo H$mo{dS>-19 bm°H$S>mD$Z Xaå¶mZ ‘hÎdnyU© ŷ{‘H$m ~Omdbr.

(Q>o{b‘mH}$qQ>J, gmoeb ‘r{S>¶m ‘mH}$qQ>J, qàQ> Om{hamV)
iv) CÚmoOH$Vo‘Ü¶o gH$mamË‘H$ g§K g§ñH¥$Vr dmT>dÊ¶mgmR>r ................ ho ‘hÎdmMo Amho.

(An¶emVyZ {eH$Ê¶mg àmoËgmhZ XoUo, {d{dYVm H$‘r H$aUo, ‘wº$ g§dmXmg namd¥Îm H$aUo)
v) ........... hm XrK©H$mbrZ VUmdmer g§~§{YV ‘mZ{gH$ n[aUm‘m§n¡H$s EH$ Amho.

(CXmgrZVm, g‘mYmZ, dmT>bobr gO©ZerbVm)
vi) H$‘©Mmè¶m§Zm àJVrgmR>r, {eH$Ê¶mgmR>r Am{U {ZU©¶ KoÊ¶mgmR>r g§Yr àXmZ H$aUo ho .............

Mo C{Ôï> AmhoV.
(ZmoH$ar {díbofU, ZmoH$ar ‘yë¶m§H$Z, ZmoH$ar g‘¥Õr)

vii) CÚmoOH$m§Zm AZoH$Xm ........... Mr OmñV JaO AgVo, Or Ë¶m§Zm ‘hËdmH$m§jr C{Ôï>o {Z{üV
H$aÊ¶mg Am{U gmÜ¶ H$aÊ¶mg àd¥Îm H$aVo.
({Z¶{‘VVm, A§XmO, ñdm¶ÎmVm)

viii) bú‘r {‘Îmb ¶m§Mr H§$nZr 2006 ‘Ü¶o ............... ~amo~a {dbrZ Pmbr.
(Amg}ba, Q>mQ>m ñQ>rb, Eñgma ñQ>rb)

ix) Iwë¶m MM}bm àmoËgmhZ XoUmam, {d{dY Ñ{ï>H$moZm§Zm ‘hÎd XoUmam Am{U g§Kf© gmoS>dÊ¶mg ‘XV
H$aUmam JQ> ZoVm .............. bm àmoËgmhZ XoVmo.
(AZwê$nVm, ZH$mamË‘H$ JQ> S>m¶Z°{‘³g, gH$mamË‘H$ JQ> J{VerbVm)
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x) ............. àH$maÀ¶m g§Kf© ì¶dñWmnZm‘Ü¶o, g§Kfm©V gh^mJr nj nañna ñdrH$m¶© VmoS>Jm
H$mT>Ê¶mgmR>r EH$Ì H$m‘ H$aVmV.
(gh¶moJ, VS>OmoS>, {Zdmg)

xi) ........... ì¶º$s¨Zm ñd-gwYmaUm Am{U d¡¶{º$H$ dmT>rgmR>r g§Yr emoYÊ¶mgmR>r àmoËgm{hV H$aVo.
(J«wn Q>mñH$, Q>r‘, àoaUm)

xii) B©-‘ob ‘mH}$qQ>JMm dmna ........... ¶mgmR>r Ho$bm OmVmo.
(’$º$ ñn°‘ ‘ob nmR>dUo, g‘yhmbm bpú¶V B©-‘ob nmR>dUo, Am°ZbmBZ ñQ>moAa V¶ma H$aUo)

à.à.à.à.à.2) H$moUVohr nmM àíZ gmoS>dm. [25]
A) g§KQ>ZmË‘H$ dV©ZmMr d¡{eï>ço ñnï> H$am.
~) d¡¶{º$H$ dV©ZmÀ¶m {ZYm©aH$m§Mo dU©Z H$am.
H$) lr AmZ§X ‘qhÐm EImÚmbm CÚmoOH$VogmR>r H$go ào[aV H$ê$ eH$VmV ¶mMo dU©Z H$am.
S>) JQ> {Z{‘©VrMr à{H«$¶m gm§Jm.
B) H$m°nm}aoQ> à{ejUmda MMm© H$am.
’$) CÚmoOH$Vo‘Ü¶o {d{dY àH$maMo VmU H$moUVo AmhoV?
¶) CÚmoOH$mÀ¶m ŷ{‘Ho$da MMm© H$am.

à.à.à.à.à.3) H$moUVohr nmM àíZ gmoS>dm. [25]
A) CÚmoOH$m§Zm àoaUm XoÊ¶mMr JaO gm§Jm.
~) ì¶{º$‘Ëd JwUY‘© åhUOo H$m¶?
H$) ^maV ’$moO©Mo ì¶dñWmnH$s¶ g§MmbH$ lr ~m~m H$ë¶mUr ¶m§Mm àdmg Am{U H$ma{H$Xu~Ôb

MMm© H$am.
S>) "C{Ôï>mZwgma ì¶dñWmnZ' hr g§H$ënZm ñnï> H$am.
B) "g§Kf© ì¶dñWmnZmÀ¶m {gÕm§Vm§Mr' MMm© H$am.
’$) Zm¡H$ar {dñVma (Om°~ EÝbmO©‘|Q>) Mm AW© H$m¶ Amho?
¶) {S>{OQ>b ‘mH}$qQ>JÀ¶m 4P da MMm© H$am.

à.à.à.à.à.4) H$moUVohr EH$ àíZ gmoS>dm. [10]
A) CÚmoOH$Vm dmT>{dÊ¶mgmR>r {S>{OQ>b ‘mH}$qQ>J‘Ü¶o H$mo{dS>-19 Mr ŷ{‘H$m Vnerbdma gm§Jm.
~) CÚmoOH$VoVrb g§Kf© ì¶dñWmnZmda H$moUVo KQ>H$ à^md Q>mH$VmV?


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Q1) Attempt any ten : [10]
i) Who suggested 4 P’s of marketing mix?

a) Peter Drucker b) Philip Kotler
c) Stephen Morse d) F.W. Taylor

ii) Marketing mix does not included _______.
a) Product b) Price
c) Place d) Sales

iii) Marketing philosophy focuses on _________.
a) Profit maximization b) Sales maximization
c) Consumer satisfaction d) None of the above

iv) The primary motive of a business is _________.
a) To earn profit b) CSR
c) Manufacturing d) Profiteering

v) Advertising is affected by _____ forces.
a) Economic b) Social
c) Legal d) All of the above

vi) Ethical advertising is associated with ________
a) Subjectivity b) Misrepresentation
c) Fraud d) Truth and fairness

vii) Intangibility, perishability and Inseparability are the characteristics of
________.
a) Products b) Goods
c) Services d) Patent

viii) Which social media platform is most useful for B2B Marketing?
a) Linked In b) Facebook
c) Instagram d) Twitter

ix) The most common skills required for a career in social media marketing
is/are __________.
a) Analytical skills b) Communication skills
c) Creativity d) All of the above

P.T.O.
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x) _______ ensure that all advertising should be legal, decent, honest and
truthful along with a sense of social responsibility.
a) Accounting standards b) Auditing standards
c) Advertising standards d) Code of conduct

xi) The Advertising standards council of India was established in _______.
a) 1985 b) 1990
c) 2000 d) 2005

xii) ________ is an example of an Internet portal.
a) Google b) Amazon
c) Facebook d) All of the above

Q2) Attempt any five from the following : [25]
a) State the objectives of Advertising.
b) What are the factors affecting selection of Advertising Media.
c) Explain the relation between Advertising Appeal and Buying motive.
d) Explain the effects of Advertising on consumer prices.
e) Write a note on Ethics in Advertising.
f) State the meaning and definition of Brand.
g) What are the challenges in new branding?

Q3) Attempt any five from the following : [25]
a) What is service Marketing?
b) 7 P’s concept of service Marketing.
c) Write a note on television advertising.
d) Careers in social media marketing.
e) What is marketing control?
f) Write a note on marketing audit.
g) What are the social networking site?

Q4) Attempt any one from the following : [10]
a) What are the Appeals in marketing? Explain the significance of appeals.
b) Explain the concept of B2B services and B2C services in detail.


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à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr Xhm àíZ gmoS>dm. [10]
i) {dnUZ {‘lMo 4P’s H$moUr gwM{dbo?

A) nrQ>a S´>H$a ~) {’${bn H$moQ>ba
H$) ñQ>r’$Z ‘mog} S>) E’$. S>ãë¶y Q>oba

ii) {dnUZ {‘lm‘Ü¶o ........... g‘m{dï> hmoV Zmhr.
A) CËnmX ~) qH$‘V
H$) ñWmZ S>) {dH«$s

iii) {dnUZ VËdkmZ ........... da ^a XoVo.
A) Z’$m ‘hÎm‘rH$aU ~) {dH«$s ‘hÎm‘rH$aU
H$) J«mhH$ g‘mYmZ S>) ¶mn¡H$s EH$hr Zmhr

iv) ............. hm ì¶dgm¶mMm àmW{‘H$ hoVy Amho.
A) Z’$m {‘i{dUo ~) gr.Eg.Ama.
H$) CËnmXZ S>) Z’o$Imoar

v) OmhramV hr ................ KQ>H$m§‘wio à^m{dV AgVo.
A) Am{W©H$ ~) gm‘m{OH$
H$) H$m¶Xoera S>) darbn¡H$s gd©

vi) OmhramVrVrb Z¡{VH$Vm hr ............ er g§~§YrV Amho.
A) ì¶º$s{Zð>Vm ~) AgË¶ {dYmZ
H$) YmoH$m S>) gË¶ Am{U Ý¶m¶

vii) AÑí¶Vm, Zmed§VnUm Am{U A{d^mÁ¶Vm hr ................ Mr d¡{eï>ço AmhoV.
A) CËnmX ~) ‘mb
H$) godm S>) noQ>§Q>

viii) B2B {dnUZmgmR>r H$moUVo gm‘m{OH$ ‘mÜ¶‘ ßb°Q>’$m°‘© A{YH$ Cn¶wº$ Amho?
A) qbH$S> BZ ~) ’o$g~wH$
H$) B§ñQ>mJ«m‘ S>) {Q‰>Q>a
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ix) gm‘m{OH$ ‘mÜ¶‘ {dnUZmVrb H$[aAagmR>r gd©gm‘mÝ¶ H$m¡eë¶o .............. hr AmhoV.
A) {díbofUmË‘H$ H$m¡eë¶ ~) g§̂ mfU H$m¡eë¶
H$) g¥OZ{ebVm S>) darbn¡H$s gd©

x) ............ Aer ImÌr XoVo H$s gd© Om{hamVr H$m¶Xoera, gä¶, àm‘m{UH$ Am{U gË¶{Zð>m
¶m~amo~aM gm‘m{OH$ O~m~XmarMo ^mZ XoVo.
A) boIm§H$Z ‘mZH$ ~) A§Ho$jU ‘mZH$
H$) OmhramV ‘mZH$ S>) AmMmag§hrVm

xi) ^maVr¶ OmhramV ‘mZH$ n[afXoMr ñWmnZm ............... ‘Ü¶o Pmbr.
A) 1985 ~) 1990
H$) 2000 S>) 2005

xii) .............. ho B§Q>aZoQ> nmoQ>©bMo CXmhaU Amho.
A) JwJb ~) A°‘oPm°Z
H$) ’o$g~wH$ S>) darbn¡H$s gd©

à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [25]
A) OmhramVrMo CÔoe gm§Jm.
~) OmhramVrÀ¶m ‘mÜ¶‘ {ZdS>rda à^md nmS>Umao KQ>H$ H$moUVo?
H$) OmhramVrMr AmdmhZo Am{U H«$¶ àoaUm ¶mVrb g§~§Y ñnï> H$am.
S>) J«mhH$ qH$‘Vrda OmhramVrMm à^md ñnï> H$am.
B) OmhramVrVrb Z¡VrH$Vm ¶mda Q>rn {bhm.
’$) "~±«S>' Mm AW© Am{U ì¶m»¶m gm§Jm.
¶) ZdrZ ~±«qS>J‘Yrb AmìhmZo H$moUVo?

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [25]
A) godm {dnUZ åhUOo H$m¶?
~) godm {dnUZmVrb 7P’s Mr g§H$ënZm
H$) Q>rìhr OmhramVrda Q>rn {bhm.
S>) gm‘m{OH$ ‘mÜ¶‘ H$[aAa g§Yr
B) {dnUZ {Z¶§ÌU åhUOo H$m¶?
’$) {dnUZ A§Ho$jU ¶mda Q>rn {bhm.
¶) gm‘m{OH$ ZoQ>d{Hª$J gmBQ> H$m¶ AmhoV?

à.à.à.à.à.4) Imbrbn¡H$s H$moUVmhr EH$ àíZ gmoS>dm. [10]
A) {dnUZmVrb AmdmhZo H$moUVr? AmdmhZmMo ‘hÎd ñnï> H$am.
~) B2B Am{U B2C godm ¶m g§H$ënZm g{dñVa ñnï> H$am.


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Q1) Attempt any Ten out of Twelve from the following: [10]

i) Who is insurance customer?

ii) What is Retention of Risk?

iii) What is mean by underwriting?

iv) What is non-medical expenses?

v) Who is surveyors?

vi) Which organisation regulates Insurance Sector in India.

vii) How much percentage of F.D.I. in the insurance industry in India.

viii) Which institutes regulates insurance in USA.

ix) Who is tour manager?

x) What is mean by tour package?

xi) Who is tour Agent?

xii) What is mean by tour operator?

P.T.O.
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Q2) Attempt any Five out of Seven from following: [25]

a) Explain the concept of mind sets of customers for taking insurance.

b) For which type of insurance medical examination is required?

c) State the significance of tour package in detail.

d) Customer satisfaction in tour.

e) State principles of underwriting.

f) State the impact of Right to Information Act on insurance business.

g) Give carreer opportunities in Tour Marketing.

Q3) Attempt any Five out of Seven from the following: [25]

a) Why tour agencies have maintained the quality of tour?

b) Why administration of tour is important?

c) Role of tour Guide.

d) Which factors are affecting the tour packages formulation.

e) State the challenges of privatisation of insurance in India.

f) Explain the Role of IRDAI.

g) Different types of insurance customers.

Q4) Attempt any One out of Two from the following: [10]

a) Write detailed note on ‘Future of Insurance Business in India’.

b) Describe the tourist buying behaviour and the role of tour operator in
detail.


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(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
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P4374

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr Xhm àíZ gmoS>dm. [10]

i) {d‘m J«mhH$ H$moU Amho?

ii) OmoIr‘ amIUo åhUOo H$m¶?

iii) h‘r åhUOo H$m¶?

iv) J¡a-d¡ÚH$s¶ IM© åhUOo H$m¶?

v) gd}jU H$Vm© H$moU AgVmo?

vi) ^maVmVrb {d‘m joÌmMo {Z¶‘Z H$moUVr g§ñWm H$aVo?

vii) ^maVmVrb {d‘m CÚmoJmV H$sVr Q> o̧$ naH$s¶ (F.D.I.) J§wVdUyH$ Amho?

viii) A‘oarHo$V (USA) ‘Ü¶o H$moUVr g§ñWm {då¶mMo {Z¶‘Z H$aVo?

ix) Qy>a ‘°ZoOa H$moU Amho?

x) Qy>a n°Ho$O åhUOo H$m¶?

xi) Qy>a EO§Q> H$moU Amho?

xii) Qy>a Am°naoQ>a åhUOo H$m¶?
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à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [25]

A) {d‘m KoÊ¶mgmR>r J«mhH$m§À¶m ‘mZ{gH$VoMr g§H$ënZm ñnï> H$am.

~) H$moUË¶m àH$maÀ¶m {då¶mgmR>r d¡ÚH$s¶ VnmgUr Amdí¶H$ Amho?

H$) Qy>a n°Ho$OMo ‘hÎd Vn{ebdma gm§Jm.

S>) Qy>a‘Ü¶o J«mhH$m§Mo g‘mYmZ

B) h‘rMr VËdo gm§Jm.

’$) {d‘m ì¶dgm¶mda ‘mhrVr Am{YH$ma H$m¶ÚmMm à^md gm§Jm.

¶) Qy>a ‘mH}$qQ>J‘Ü¶o H$arAaÀ¶m g§Yr.

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [25]

A) Qy>a EOÝgr Xm¡è¶mMm XOm© H$m amIVmV?

~) Xm¡è¶mMo àemgZ ‘hÎdmMo H$m Amho?

H$) Qy>a ‘mJ©Xe©H$mMr ŷ{‘H$m

S>) H$moUË¶m KQ>H$m§Mm Qy>a n°Ho$O V¶ma H$aÊ¶mda narUm‘ hmoVmo?

B) ^maVmVrb {då¶mÀ¶m ImOJrH$aUmVrb AmìhmZo gm§Jm.

’$) IRDAI Mr ŷ{‘H$m ñnï> H$am.

¶) {d‘m J«mhH$m§Mo {d{dY àH$ma

à.à.à.à.à.4) Imbrbn¡H$s H$moUVmhr EH$ àíZ gmoS>dm. [10]

A) "^maVmVrb {d‘m ì¶dgm¶mMo ^{dî¶' ¶mda Vnerbdma {Q>nU {bhm.

~) n¶©Q>H$m§À¶m IaoXrÀ¶m dV©ZmMo Am{U Qy>a Am°naoQ>aÀ¶m ŷ{‘Ho$Mo Vn{ebdma dU©Z H$am.





Q1) A) Fill in the blanks (Any Five) : [5]

i) The process of ______ begins when the process of accounting
completes.

a) Book-keeping b) Auditing

c) Verification d) Finalization of Accounts

ii) __________ is the example of fictitious asset.

a) Goodwill b) Building

c) Freehold Property d) Preliminary Expenses

iii) The fundamental objective of the audit is to ________.

a) Protect the interest of the minority shareholders

b) Detect and prevent errors and fraud

c) Assess the effectiveness of the company’s performance

d) Attest to the credibility of the company’s accounts

iv) Income tax is a tax on ______.

a) Income b) Capital

c) Turnover d) Expenditure
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v) The term HUF stands for _______.
a) Hindu Unified Family b) Human Undivided Family
c) Hindu Undivided Family d) Human Uniform Family

vi) A person by whom any tax is payable under Income Tax Act 1961
is called as an __________.
a) Individual b) Tax receiver
c) Assessee d) None of the above

vii) The term person includes __________.
a) HUF b) AOP
c) BOI d) All of the above

B) State whether the following statement is TRUE or FALSE (Any
Five) : [5]
i) Auditing requires all the documentary evidence, books of accounts

and all other relevant documents at the time of auditing.
ii) Auditor does not require to follow the Generally Accepted Audit

Procedure.
iii) Audit must continue till the next Annual General Meeting takes place.
iv) Audit Evidence does not refer to the information which may be in

form or documents, vouchers, and explanations.
v) Income Tax Act extends to whole of India except Jammu and

Kashmir.
vi) Illegal Incomes are not taxable under Income Tax Act, 1961.
vii) Previous year can be more or less than 12 months.

Q2) Write Short Note on (Any Five) : [25]
a) Audit Programme
b) Audit Certificate
c) Tax Audit under section 44AB
d) House Rent Allowance
e) Agricultural Income
f) Residential Status of an Individual
g) Audit Note-Book
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Q3) Attempt any Five from the following : [25]
a) What is mean by Internal Control System?

b) Define the term ‘Person’.

c) What do you mean by Vouching & Verification?

d) What is meant by Internal Audit?

e) How to calculate Annual Value of let out House Property?

f) Explain Deduction u/s 80D.

g) What is Teeming & lading?

Q4) Attempt any One from the following : [10]
a) What is auditing? Explain the Objectives of Auditing.

b) Mr. Suresh is an employee of a well-known private limited company at
Pune. He received the following income from the company during the
year previous year 2022-23.

• Basic Salary Rs. 21,300 p.m.

• Dearness Allowance (50% applicable for retirement benefit)
Rs.12,000 p.m.

• Conveyance Allowance Rs. 6,800.

• Children Education Allowance Rs. 90 p.m. per child for two children.

• He contributed to his Statutory Provided Fund amounting to
Rs.12,000 and the matching contribution was met by the company
to the same fund.

• Interest credited to S.P.F. @ 8% p.a. is Rs. 8,000.

• Company has provided car, having capacity 1400cc, for both official
as well as private purpose. The car is owned by the employer and
all the expenses are met by the company.

• He paid professional tax Rs.200 p.m.

Compute the taxable income from salary as per Old Regime for the
assessment year 2023-24.


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àíZ àíZ àíZ àíZ àíZ 1) A) [aŠV OmJm ^am (H$moUVohr nmM) … [5]

i) {hemo~mMr à{H«$`m nyU© Pmë`mda ............... Mr à{H«$`m gwê$ hmoVo.

A) ~wH$-H$sqnJ ~) boImnarjU

H$) nS>VmiUr S>) ImË`m§Mo A§{V_rH$aU

ii) ............... ho H$mën{ZH$ _mb_ÎmoMo CXmhaU Amho.

A) Y§X²`mVrb nV ~) B_maV

H$) \«$shmoëS> _mb_Îmm S>) àmW{_H$ IM©

iii) boImnarjUmMo _yb ŷV C{Ôï> ................ ho Amho.

A) Aëng§»`mH$ ^mJYmaH$m§À`m {hVmMo ajU H$am

~) ÌwQ>r Am{U \$gdUyH$ emoYUo Am{U à{V~§Y H$aUo

H$) H§$nZrÀ`m H$m_{JarÀ`m n[aUm_H$maH$VoMo _yë`m§H$Z H$am

S>) H§$nZrÀ`m ImË`m§À`m {dídmgmh©VoMr gmj X²̀ m

iv) Am`H$a hm ............... darb H$a Amho.

A) CËnÞ ~) ^m§S>db

H$) CbmT>mb S>) IM©

v) HUF `m eãXmMm AW© ................ Amho.

A) qhXÿ EH${ÌV Hw$Q>§w~ ~) _mZdr A{d^ŠV Hw$Q>§w~

H$) qhXÿ A{d^ŠV Hw$Q>§w~ S>) _mZdr EH$g_mZ Hw$Qw>§~

4 P.T.O.
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vi) Am`H$a H$m`Xm 1961 A§VJ©V H$moUVmhr H$a Xo` Agboë`m ì`ŠVrbm .............
åhUVmV.

A) d¡̀ {ŠVH$ ~) H$a àmáH$Vm©

H$) H$a{ZYm©aH$ S>) darbn¡H$s H$mhrhr Zmhr

vii) ì`ŠVr ̀ m eãXmV .............. g_m{dï> Amho.

A) HUF ~) AOP

H$) BOI S>) darb gd©

~) Imbrb {dYmZ gË` Amho H$s AgË` (H$moUVohr nmM) … [5]

i) boImnarjUmgmR>r gd© H$mJXmonÌr nwamdo. {hemo~mMr nwñVHo$ Am{U BVa gd© g§~§{YV H$mJXnÌo
Am°{S>Q>À`m doir Amdí`H$ AgVmV.

ii) boImnarjH$mbm g_mÝ`V… ñdrH¥$V boImnarjU à{H«$ òMo nmbZ H$aÊ`mMr Amdí`H$Vm
Zmhr.

iii) nwT>rb dm{f©H$ gd©gmYmaU g^m hmoB©n ª̀V boImnarjU Mmby R>odUo Amdí`H$ Amho.

iv) boImnarjU nwamdm \$m°_© qH$dm XñVEodO, ìhmCMa Am{U ñnï>rH$aUmV Agy eH$Umè`m
_m{hVrMm g§X ©̂ XoV Zmhr.

v) àm{áH$a H$m`Xm Oå_y Am{U H$mí_ra dJiVm g§nyU© ^maVm_Ü ò {dñVm[aV Amho.

vi) Am`H$a H$m`Xm, 1961 A§VJ©V Ad¡Y CËnÞ H$anmÌ Zmhr.

vii) _mJrb df© 12 _{hÝ`m§nojm OmñV qH$dm H$_r Agy eH$Vo.

àíZ àíZ àíZ àíZ àíZ 2) H$moUË`mhr nmM da bhmZ Q>rn {bhm … [25]

A) Am°{S>Q> H$m ©̀H«$_

~) Am°{S>Q> à_mUnÌ

H$) H$b_ 44AB A§VJ©V H$a boImnarjU

S>) Ka^mS>o ^Îmm

B) H¥$fr CËnÞ

\$) EImX²̀ m ì`ŠVrMr {Zdmgr pñWVr

`) boImnarjU Zm|X-nwñVH$
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr nmM àíZm§Mr CÎmao {bhm … [25]

A) A§VJ©V {Z §̀ÌU àUmbr åhUOo H$m`?

~) "ì`ŠVr' `m eãXmMr ì`m»`m H$am.

H$) ìhmCqMJ Am{U ìho[a{\$Ho$eZ åhUOo H$m`?

S>) A§VJ©V Am°{S>Q> åhUOo H$m`?

B) KamÀ`m _mb_ÎmoMo dm{f©H$ _yë` H$go _moOmdo?

\$) 80D A§VJ©V dOmdQ> ñnï> H$am.

`) Q>rq_J Am{U b°qS>J åhUOo H$m`?

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$ àíZmMo CÎma {bhm … [10]

A) boImnarjU åhUOo H$m`? boImnarjUmMr C{Ôï>o ñnï> H$am.

~) lr gwaoe ho nwUo òWrb EH$m gwà{gX²Y àm`ìhoQ> {b{_Q>oS> H§$nZrV H$_©Mmar AmhoV. _mJrb
df© 2022-23 _Ü ò Ë`m§Zm H§$nZrH$Sy>Z Imbrb CËnÞ {_imbo.

• _yi nJma é. 21,300 p.m.

• _hmJmB© ^Îmm ({Zd¥ÎmrÀ`m bm^mgmR>r 50% bmJy) é. 12,000 p.m.

• dmhVyH$ ^Îmm é. 6,800.

• _wbm§Mm {ejU ^Îmm é. 90 p.m. à{V ~mbH$ XmoZ _wbm§gmR>r.

• Ë`m§Zr Ë`m§À`m d¡Ym{ZH$ ^{dî` {Zdm©h {ZYr_Ü ò é. 12,000 BVHo$ `moJXmZ {Xbo
Am{U H§$nZrZo Ë`mM {ZYr_Ü ò g_mZ `moJXmZ {Xbo.

• d¡Ym{ZH$ ^{dî` {Zdm©h {ZYr_Ü ò ì`mO O_m Ho$bo @ 8% p.a. é. 8,000 Amho.

• H§$nZrZo A{YH¥$V Am{U ImOJr XmoÝhr hoVy§gmhr 1400cc j_VoMr H$ma CnbãY
H$ê$Z {Xbr Amho. H$ma _mbH$mMr Amho Am{U gd© IM© H§$nZr H$aVo.

• Ë`m§Zo ì`mdgm{`H$ H$a ^abm é. 200 p.m.

2023-24 _yë`m§H$Z dfm©gmR>r OwÝ`m {Z`_mZwgma H$anmÌ nJmamMr JUZm H$am.


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